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@ In[1]:=

b MIx_] := 4*x*(1l-x)
In[6]:=
N[NestList [M,N[1/10+104(-17),40],50]-NestList[M, N[1/10,40],501]

N o /
Out[6]= L_ éejc,\re T: ;pecri[:] Qb\ov\ﬁlt PV(’L!HUI—-;‘

=17 =17 -16
{1. 10 i 3.2 10 i 3.584 10 , -1.20881 10 '

~16 -16 -16
-2.04034 10 ., 5.25493 10 , =3.59103 10 y

-15 ~15 -15
1.35256 10 . 4.18387 10 . 3.28103 10 i

-14 -14 =15
=4 4¥152 10 ; —3:41323 10 ., 1.07138 10 ,

: =15 -14 -14

-4.28501 10 , =1.71316 10 ; —6.83914 10 i
~13 =12 =12

-2.71412 10 i —=d,0516 10 ., —3.68694 10 :
-12 =11, =4d
-7.91278 10 . 1.34279 10 , —-3.4377 10 i
10

=34 -11 =
2.48517 10 ¢ =9.29128 10 ¢ =2:17709 10

’

-10 =10 =5 -9
-1.:29645 10 , 5.04452 10 , 1.80093 10 , 4.27302 10

’

-9 -8 -8 ~

-5.06438 10 ~, 1.67006 10 =, 2.4003 10 °, -7.12204 10 °,
-8 -7 =7 -

-2.86282 10 , 1.122 10 , 4.12908 10 , 1.14442 10 ,

=7 =l -6
-1.8207 10 , 7.25976 10 , 2.86721 10 , 0.0000108929,
0.0000350382, 0.0000411111, -0.000136146, -0.000201977,

.0.000585645, 0.0 12, -0.000474771, -0.00185977,
-0.00682947, (-0.0187304

50120077 - MO )

In[7]:=
Fit[Log[Abs[%61],{1,n},n]

Qui[7]=
-40.1458 + (0.694732)n

In[8):= s b pproX
N[Log[2]]
Out[8]= L
-
(o) b
In[10]:=

Show[ListPlot [Log[Abs[%6]1],Plot[%7,{n,1,50}1];
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